

(تلف ۲۰)

(تازه دست)

S. 13113

$$\alpha \leq \sqrt{\beta}$$

$$\sqrt{\beta} = \frac{1}{\sqrt{\alpha}}$$

$$\sqrt{m} - \alpha m + \epsilon = 0$$

(۱)

اولاً فرض کنیم α و β در Δ باشند

$$\sqrt{\beta} \times \beta = \sqrt{\beta}^3$$

$$\sqrt{\beta}^3 \leq \frac{\epsilon}{\sqrt{\alpha}}$$

$$\beta^3 \leq \frac{\epsilon}{\alpha} \leq \frac{1}{\sqrt{\alpha}}$$

$$\sqrt{\alpha} + \frac{1}{\sqrt{\alpha}} \leq \frac{1}{\sqrt{\alpha}} \rightarrow \frac{1}{\sqrt{\alpha}} \leq \frac{1}{\sqrt{\alpha}} \quad \boxed{\alpha_1 = 1}$$

$$\alpha_1 - \alpha_2 = \frac{1}{4} = \epsilon$$

$$\beta = -\frac{1}{\sqrt{\alpha}} \rightarrow \alpha \leq -1 \quad -1 - \frac{1}{\sqrt{\alpha}} \leq \alpha \quad \boxed{\alpha_2 = -1}$$

$$\sqrt{\frac{1}{\alpha}} + \sqrt{\frac{1}{\beta}} \leq 2$$

(۲)

$$\frac{1}{\alpha} + \frac{1}{\sqrt{\beta}} \leq 2$$

$$\frac{\sqrt{\beta} + \sqrt{\alpha}}{\sqrt{\alpha\beta}} \leq 2$$

$$\frac{\sqrt{\alpha} + \sqrt{\beta}}{\frac{1}{4}} \leq 2 \Rightarrow \sqrt{\alpha} + \sqrt{\beta} \leq \frac{2}{4}$$

$$\alpha\beta \leq \frac{1}{16} \quad \alpha + \beta \leq \frac{m+1}{16}$$

$$\alpha + \beta + \sqrt{\frac{1}{\alpha\beta}} \leq \frac{m+1}{16}$$

$$m\sqrt{\alpha} + \sqrt{m+1} \leq 0$$

$$-m\sqrt{\alpha} + \sqrt{m+1} \leq 0$$

$$\boxed{\frac{C}{a} \leq -1}$$

$$\frac{m+1}{16} \leq \frac{1}{16} - \frac{1}{16} \leq \frac{1}{16}$$

$$m+1 \leq 1$$

$$\boxed{m \leq -1}$$

$$(\alpha + \beta)^2 \leq 1 \rightarrow \alpha^2 + \beta^2 + 2\alpha\beta \leq 1$$

$$\alpha^2 + \beta^2 \leq 2$$

$$\alpha + \beta \leq 1$$

$$\left. \begin{array}{l} \alpha \leq 1 \\ \beta \leq -1 \end{array} \right\}$$

(۳)

$$\epsilon \times (-1)^k + k + 1 - \sqrt{\alpha} \rightarrow \boxed{k \leq \sqrt{\alpha}} \quad \checkmark$$

$$\epsilon \times 1 + \epsilon k - 1 - \sqrt{\alpha} \rightarrow \boxed{k \leq \sqrt{\alpha}} \quad \checkmark$$

$$r\alpha + r\alpha^r = r, \Delta\alpha + r, \Delta\beta = 0, \Delta\alpha = 0, \Delta\beta^r \quad (3)$$

$$\frac{0}{r} (\alpha^r + \beta^r) + \frac{1}{r} (\alpha^r - \beta^r) \quad \alpha^r + \beta^r = s - r\rho \Rightarrow r4 - ra$$

$$\alpha^r - \beta^r = s (\alpha + \beta) (\alpha - \beta)$$

$$\hookrightarrow -4(-\sqrt{r4 - \epsilon a}) = 4\sqrt{r4 - \epsilon a}$$

$$\frac{\sqrt{\Delta}}{|a|} \leq a < \beta^r - \sqrt{\Delta}$$

$$\frac{0}{r} (\alpha^r + \beta^r) + \frac{1}{r} (\alpha^r - \beta^r) \Rightarrow 40 - \Delta a + r\sqrt{r4 - \epsilon a}$$

$$\hookrightarrow 14\sqrt{r4 - \epsilon a}$$

$$-9 - \Delta a \leq 140 \Rightarrow a \leq 1$$

$$r\sqrt{r4 - \epsilon a} \leq 14\sqrt{r} \Rightarrow a \leq 1 \quad \checkmark$$

$$m^r = t$$

$$t = \frac{+V \pm \sqrt{49}}{r}$$

$$t^r - vt - \Delta = 0$$

$$\Delta \leq r9 + r.$$

$$m \leq \frac{V + \sqrt{49}}{r}$$

$$s = 0 \rightarrow \rho = \frac{-v - \sqrt{49}}{r}$$

$$rp^r - rp/s + s = 0$$

$$rp^r = r9 + 49 + 14\sqrt{49} \quad \times r_s \quad \boxed{89 + 14\sqrt{49}}$$

$$\alpha + \beta = -\frac{1}{r} \quad \alpha\beta = -\frac{r}{a} \quad (4)$$

$$\alpha + \beta = -\frac{1}{r}$$

$$\alpha + \beta = \frac{a + (-r)}{r} \Rightarrow a = 1$$

$$\left(\frac{1}{r} + \alpha\right) \left(\frac{1}{r} + \beta\right) = \frac{1}{r^2} + (\alpha + \beta)\frac{1}{r} + \alpha\beta$$

$$\frac{1}{\epsilon} - \frac{1}{\epsilon} - \frac{1r}{\epsilon} = \frac{b}{r} \Rightarrow b = -4$$

$$\left[\frac{ab}{\epsilon}\right] = \left[\frac{1x-y}{\epsilon}\right] = \left[-\frac{r}{r}\right] = (-r) \quad (5)$$

$$a\alpha^r - a\alpha - b = 0$$

$$s \leq 1$$

$$p = -\frac{b}{a}$$

(v)

$$a\beta^r - a\beta - b = 0 \rightarrow \beta^r - \beta = \frac{b}{a}$$

$$\epsilon_0 \beta^r + r \cdot \alpha^r - r \cdot \beta = r \cdot \beta^r + r \cdot \alpha^r + r \cdot \beta^r - r \cdot \beta$$

$$r \cdot (s^r - rp) + r \cdot (\beta^r - \beta) = r \cdot (1 + \frac{rb}{a}) + r \cdot (\frac{b}{a}) = \frac{r}{a} (a + b + b)$$

$$r \cdot (1 + \frac{rb}{a}) + r \cdot (\frac{b}{a}) = r \cdot (1 + \frac{b}{a}) = r \cdot \frac{a+b}{a}$$

$$\frac{b}{a} = -\frac{1}{r} \rightarrow b = -\frac{1}{r} a \quad \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{a^2 + 4ab}}{|a|}$$

$$\frac{\sqrt{a^2 - \frac{a^2}{r}}}{|a|} = \frac{1}{|a|} \sqrt{\frac{r}{r-1}} = \frac{r}{\sqrt{r-1}}$$

جواب

$$a \leq r_{k+1} \times r_{k-1} \leq \epsilon_{k+1}$$

(A)

$$a+1 \leq \epsilon_k \rightarrow a \leq \epsilon_{k-1}$$

$$\epsilon_{k+1} - \epsilon_k \leq 0$$

$$\epsilon_k (k-1) \leq 0 \rightarrow k \leq 1 \quad k=0$$

$$a \leq r$$

$$b \leq \epsilon_{k+1} + \epsilon_k$$

$$r_{k+1} \rightarrow r_{k+1}, r_{k-1}$$

$$r_{a+1} \leq \epsilon_k + r$$

$$|a-b| \leq r$$

$$1 \leq \epsilon_k + r \rightarrow k' \leq r$$

$$b \leq r$$

$$\alpha + \beta = -1$$

$$\alpha\beta = 1 - m^r$$

$$m^r \leq 0$$

$$r + r m^r \xrightarrow{m \leq 0} r$$

$$\alpha^r + \beta^r = s^r - r p = 1 - r(-m^r - 1) = 1 + r m^r + r$$

$$r + r m^r$$

$$s/ -1$$

$$y = a(n+1)^r + 1 \rightarrow 0 = a(n^r + 1 + r n) + 1$$

(10)

$$a + \beta = -\frac{r a}{a} = -r \quad y_0 = a n^r + a + r a n + 1$$

$$a\beta = \frac{a+1}{a}$$

$$a^r + \beta^r + r a \beta = 0$$

$$r a \beta = -1$$

$$a\beta = -\frac{1}{r}$$

$$\frac{a+1}{a} = -\frac{1}{r}$$

$$a = -\frac{r}{r}$$

$$y = -\frac{r}{r}(n+1)^r + 1$$

$$n \rightarrow 0 \quad y = -\frac{r}{r} + 1 \rightarrow y = \frac{1}{r}$$